read;nvar=83;nobs=337;file=D:\old_drive_d\Book\Book2e-Data\Ex3-9.TXT$
skip
histogram;rhs=x83$
create;if(x38=1&x41=1)rumblstr=1$
create;if(x26>0)ramp=1$
create;if(x38=1&x41=1)rumblstr=1$
create;if(x26>0)ramp=1$
tobit;lhs=x83;rhs=one,x32,x6,ramp,x39$
create;if(x38=1&x41=1)rumblstr=1$
create;if(x26>0)ramp=1$
create;if(x38=1&x41=1)rumblstr=1$
create;if(x26>0)ramp=1$
tobit;lhs=x83;rhs=one,x32,x6,ramp,x39$
tobit;lhs=x83;rhs=one,x32,x6,ramp,x39
    ;rpm
    ;fcn=x39(n),x32(n);pts=200;halton$
create;mcrash=x83-x3$
btobit;lhs=x3,mcrash

     ;rh1=one,x32,x6,ramp,x39
     ;rh2=one,x32,x6,ramp,x39,x27$
